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ABC is a right-angled triangle.

— X
Angle B = 90°. tan (36) =
Angle A =36°. £.77
AB=8.7 cm.
_ . &
Work out the length of BC. > o B. 11X Lon (3 )

Give your answer correct to 3 significant figures.

Diagram NOT
avcurately druwn

cem (O) S o yg{f TSk

Calculate the value of x.
Give your answer correct to 3 significant figures.

I &
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(3 marks)

For more help, please visit our website www.exampaperspractice.co.uk
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0
5.8m @

43° ]

R ¢
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Diagram NOT accurately drawn
POR is a triangle, . — X
Angle O = 90°. Cosud) = >
Angle R = 43°. 5. K
PR=5.8m,
Caleutate the fength of OR. 5 ¢ coswz) ==

Give your answer correct to 3 significant figures,

..............................

Diagram NOT
accurately drawn

Sew CpT T4

Qg 12.5¢cm ’ P 5
POR is a triangle. @ Lj(' ) - - g
Angle POR = 90°. -Eclm / | Z -
PO=125¢cm.
OR=5cm. “

x= L
Calculate the value of x.
Give your answer cotrect to 1 decimal place.

.........................................

For more help, please visit our website www.exampaperspractice.co.uk
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9.6 cm

0

LMN is aright-angled triangie.
MN=9.6 cm.
LM=64cm.

Calculate the size of the angle marked x°.

Give your answer correct to 1 decimal place.

Diagram NOT

aceurately drawn
6.4 ¢cm

M

Cos(0) - o
7.6

o Gl 48-2,0

3.9 cm

Work out the value of x,

Give your answer correct to I decimal place.

Diagram NOT
accurately drawn

SeHt Cau RSA

— 3.9
Cosla) = 2L
T

x/_’:

...............................

For more help, please visit our website www.exampaperspractice.co.uk
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{3 marks)
Diagram NOT
accurately drawn
&
4.5¢cm
R
[Zem
, D, 5
POR is a right-angled triangle. ,t z .
PR =12 cm. CWLO) (=
QR = 4.5 cm.

Angle PRQ = 90°.

Work out the value of x.
Give your answer correct to one decimal place. ©

..................................

Calculate the size of angle ¢ in this right-angled triangle.
Give your answer correct to 3 significant figures.

Diagram NOT
accurately drawn

.....................................

For more help, please visit our website www.exampaperspractice.co.uk
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POR is a right-angled triangie.

P Diagram NOT

@/ T accurately drawn
- 8 cnt @

A SR
Q/ 12em R % cHx o

PR=8cm. —

OR=12 cm. Lan @} =

{a) Find the size of the angle marked x. !
Give your answer correct to 1 decimal place. A= %aﬂ

7 33-7

.........................

X¥Z is a different right-angled triangle.

@ Sem

X Diagrami NOT
accurately drawn

}."
XY =5cm. 5
Angle Z = 32°, . -
W (32) = =
(b) Calcuiate the length ¥Z. xX
Give your answer correct to 3 significant figures. S
x T =

For more help, please visit our website www.exampaperspractice.co.uk
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10.  The diagram shows a quadrilateral ABCD.

Diagram NOT
accurately drawn

AB=16 cm.

AD=12 cm.

Angle BCD = 40°,

Angle ADB = angle CBD = 90°,

Calculate the length of CD.
Give your answer correct to 3 significant figures.

For more help, please visit our website www.exampaperspractice.co.uk
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11.

7cm 12 ¢cm

P
S

Diagram NOT
accurately drawn

ABC is a triangle,

ADCis a straight line with BD perpendicular to AC.
AB=T7cm,

BC=12cm,

Angle BAD = 65°.

Calculate the length of AC.
Give your answer correct to 3 significant figures.

SOH LrTTek
X

i &65) - /":r"”

= 63 D509

z 1 1
To Ap 4 b (152 £D ¢ 63l
_ P
At = 7% - 6.3y co = N1zt ~63ug.
T 6 e CHESLAS
T G
2.a96%3218 32 e
AC= ADA ¢ V3 L om
(6 marks)
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For more help, please visit our website www.exampaperspractice.co.uk






